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16 (2,2 —7VEAL)TFu=R L 0.005 0.005
17 [ANb—T=
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62 |~ratr 1,565 1,565
63 [T YT EaIR 231 231
64 |Th7xr Ty IR 491 48 540
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208 |2, 44—V — 44— ¥)—TF)NTx/)—)L
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210 |2, 2—27a®E—2—7 )7 ®RTIR
211 |»~Nur—2402
212 | 77—} 1,045 1,045
213 [N, N=—AF LT ERTIR 194 58 252
214 |2, 4—AF LT =V
215 |2, 6—AF LT =V
216 |IN, N—IAF L7 =V 0.003 0.003
217 | FHTIIA 50 50
218 |[PAF LTIV 0.84 0.009 0.85
219 |AF LI AL T 4R
220 | AF IV FF IV S EED KRR
221 | _UT7FHNVT 46 46
222 | T )FAINT
223 IN, N=UAFILRTVINT IV
924 s’pN SAFTIRTLVT Iy =N=A% 13 4,183 147 4,344
225 |F) 7Ly 3.8 3.8
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253 | a7 < J7RA
254 | A7 T~ TRA 17 17
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256 |7 PR 0.051 0.66 0.71
257 |7 H/)—)v 19 19
258 | NFHPAFL T T 1.5 58 1.0 60
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271 |TL 7 HIVERY AF )L
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273 | /W< —RT LT I)va—)L 0.18 7.4 0.0003 7.6
274 | H—xV—RTho T4 —L
275 |RT 2 IVRRER T NI 2 1,220 123 0.87 9,872 6,359 17,575
276 |ThTmFL LA 1.0 3.0 4.0
277 [N Z=F L7 71 152 223
278 |[NJ=FL TR 4.2 18 22
279 |1, 1, 1—RM)rpooxx
280 |1, 1, 2—RN)rpoox k.
281 |NJZom—FL > 6,289 3.8 11 6,304
282 |~ anfEiz 0.70 3.2 3.9
283 |2,4, 6—hN)/ou—1, 3, 5—NT7Y
284 |CFC—113
285 |rvoot sy 3,085 3,085
286 |FJ7uE L 132 132
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 8,730 8,730
289 |1, 2, 3—RJroar o S
290 |F)rma~ B
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309 | =7 UALEY) 14 698 12 10 735
310 | =k = kR
311 [FNbh—=haT=Y—)L
312 A Nb—=btaT=J
313 |=hZ Uk
314 |/NNT—=ppZup~ B
315 |[A/Nh—=hrMlL =z
316 |=ha B 0.16 0.16
317 |=hmAZ 0.047 0.047
318 | “HifkRE 0.33 0.016 0.34
319 | /v~ — /=)L )La—)
320 | /=) Tz /)—)L 0.023 0.085 0.11
321 (INFUUMMEEW 0.037 52 0.44 53
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J—)
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379 |2— 7’ —1—F—/L
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381 |7 uE/apAZ 284 129 413
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289 ;#%T//VI\U%%/VY/%%'?A—%ZU 20 485 195 639
390 [ ~NFHAFL VTV 0.020 0.020
391 [ ~AFYPAFL L =TT F—h 0.43 0.43
392 | /L= —~FH 26,985 1,131 1,235 59,341 1,272 0.16 21 89,986
393 | RNFFTh—)L
394 | VU LK OZEDILEY
395 |[~ULASY T RREROD KRR 6.0 6.0
396 |PFOS
397 |y =RralR
398 |[Hfb~oPL 0.004 0.004
399 | XU X7 LTER 0.002 64 4,192 75 303 141] 2.4 0.00003 4,778
400 |~ P 1,658 0.26 2,257 295 63,059 1,284 3,730 2,141 9.5 0.87 57 74,490
401 jk’t;f A= SBINIRARL, 28| 600004 0.000004
402 | A7 F vk 140 140
403 [T ) 0.002 0.001 0.003
404 | XA marx )—)L
405 [13HFILEW 227 11 28 266
406 |PCB
R mFLo) =T LF /L —T )b
407 | (T X NVFEDRFBEDN120615FTOL 8,898 1,826 10 101,999 8,150 120,884
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419 | AZTUVER )V~ )LV —T F )L
420 [ AZIVVERATF L 681 137 5.4 824
421 [A—AFVT o AFBH —2—F
422 |72 1,378 1,378
423 [ AFILT I 0.0002 0.000005 0.0002
424 | AFN=AVF AT F—h
425 |4 FahT
426 | HIVARTT
427 [ I YL 80 138 218
428 | 7= )T HNT 30 174 204
429 [ ~\aALTaL AT L 157 157
430 (A R¥Y LT
431 |7V F L AbhmE 250 250
432 |[TIFT X 20 20
433 | H—/ A 1,750 1,750
434 | AP
435 BV NI AF )L 576 576
436 | TNV T 7 —AF )V AF L
437 |3—AF NT A7) —)
438 [ AFLFTHL 8.8 2,843 0.046 2,852
439 [3—AF YD
1—AF)L—1—Txz=)LF /)L =tRa~
40 | S 0.13 0.59 0.72
441 2— (1—AFNLTHEN) —4, 6—=Iu
7 /)—)
442 [ A7m=,v 80 80

Q-7




idih 225 HEHIER] - S G BRI O BHERHRR (20224F % « %

PR [1. SHEERA B L LB DOTZ Y0 LLF ~23. 5 e E i

el

ERPEH & (kg/4, X A4 FEIFImg-TEQ/4E)

B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E’v i | KGR D N N Y NN > > L N 3 A #ﬂrxbg%‘ %%gﬁz A2
= WE 4 \ sty spi L o e |TEREBHTE | PevEAle | BAERAE WHT | 72X —an FREREED | PoE | fize we | AVVE | X AAF | IRER | T s &t

w5 Thogr| B R BEA R e a | ovr | o | AEVE ) R TR B | T 0 e | oo | | mi | el | i

443 | AV 225 225

444 |N)7 oL Ak

445 [T VXL DAF )L 94 94

446 |4, 4 —AFL o7 =00

AFL R4, 1= 7a~FilLy) =
447 SRk 0.65 0.65
AFLUER(4, 1—Txz=Ly) =AYy

448 5k 109 109

449 |72 AT 4T 7 I

450 [T F T

451 |[2—ARFL —5—AF LT =Y

452 |2—ANVAT U F T —)L 7.1 7.1

453 | BV T R OZFDILEY 1.2 166 0.65 168

454 12— (BRI T A) XIS TFT— )V 0.58 0.58

455 |FE/LARY 80 294 374

456 |DAALT VI=T L 165 165

457 |7 a)LR A 446 446

458 [VAPBER A (2 — T )L ~F L)

459 |WAFENA (2— Z/aaxF /L) 0.40 0.40

460 | AEERNIRY L 0.96 0.96

461 |WABEN 7 ==)L 13 19 32

462 [W AN — /)L~ )L— T F )L 0.00008 0.0004 0.0005
B it 315,873]  105,969] 2,578| 9,855 74,732 0| 178,564 53,847] 9,684 6,611] 790,299/ 10,839/ 26,031 18,464 85 0l 861 36,857 400 0l 87,022 1,696 674] 1,730,541

1)-8




